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INSTRUCTIONS TO CANDIDATES :

1         Answer all questions.

2         Write your answers in the spaces provided on the question paper.

3         If working is needed for any question, show it in the space below that 

question.

4         Omission of essential working will result in loss of marks.

5
The use of calculator is not allowed.

INFORMATION FOR CANDIDATES

1
The intended marks for questions or parts of questions are given in brackets [  ].

2
If the degree of accuracy is not specified in the question, and if the answer is not exact, give the answer to three significant figures. Give answers in degrees to one decimal place.
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Rearrange the following in descending order:
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Number of correct answers
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Fill in the missing terms in the following sequences:



(a) 
1, 1, 2, 3, 5,   8 , 13,  21, 34






[1]



Pattern: 
1+1 =2

                                  
1+2 =3
                                        
2+3=5

                                       
3+5 =8

                                        
8+13=21



(b) 
9, 13, 22, 38, 63 , 99 ,148







[1]



Pattern:
9+22 =  13
                                 
13+32 = 22





22+42 = 38





38+52 = 63





63+62 = 99
_______________________________________________________________________
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Consider the numbers –2, 2.4 and 
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(a)
Represent these numbers on a number line in the space below.



(b)
Write down a rational number mid-way between –2 and 
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Answer (a)










[1]





      Note:  Only shaded circles are to be used. If there are no arrows at the end of the number line,   

                  no marks are to be awarded.  Numbers on the line are to be equally spaced. 







Answer  (b)   
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Factorize completely 
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Answer
       
[image: image28.wmf])

a

b

3

)(

1

x

4

(

3

+

-


[2]


5
Mrs Tang bought p eggs at r cents per dozen. She sold them for s cents each. Find, an expression, in terms of p, r and s, for the profit, in cents, that she made. 

12 eggs cost r cents.
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Selling price of p eggs =
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Profit that she made = 
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(b)  
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6
Estimate, correct to 2 significant figures, the value of 
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Answer
          520
[3]
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Solve the equation  
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Answer
     y  =      
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8
In the diagram, the lines AD and BC meet at X. AB is parallel to CD and BY is 
parallel to AD. 
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Calculate

(a) 
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(a)
Find the largest integer p such that 
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(b)
Find the smallest prime number q such that 
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           (b)       
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Answer
(a)        –5      [A1]
[2]







(b)       23  
   [A1]
[2]
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10
The pie chart shows how 180 students go to school.
(a) 
If 57 students go to school by bus, calculate the value of x.

(b) 
Find the number of students who walk to school.

(c) 
Find the ratio of the number of students who go to school by car to the

number of students who cycle to school.

(d) 
Find the percentage of students who go to school by car.


(a)
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(b)
No of student who walk to school
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(c)
Angle = 3600–740–1140–1080=640
Ratio = 108: 64


Answer (a) x =
1140


[1]

                                = 27:16
             
(b)  

37


[1]


(d) % of students =(108/360) x 100 = 30
(c)  

27:16


[1]

(d) 

30


[1]
11
Benches, lamp posts and hydrants are found at 15 m, 20 m and 30 m intervals 
respectively along a straight road. At the beginning of the straight road, all three 
objects are in line.

(a) At what distance from the beginning of the straight road will the three
objects next appear in line? 













(b) If the straight road is half a kilometre long, how many times do the objects appear in line?  









(a)
LCM of 15, 20 and 30 = 22 x 3 x 5 = 60…………………………………..M1
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 The three objects will appear in line again after 60 m. ……………...A1

(b)
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 a kilometre = 1000 m 
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No. of times the objects appear in line after the initial line up at the beginning of the straight road  
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  Number of times objects appear in line =8 + 1 = 9………………………A1



Answer
(a)       60                 m
[2]







(b)        8                times
[2]
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12

Below shows the amount of pocket money 20 students receive in a week.




                     24  18  22  15   8   9  28  35  45  21




                     18  15  9   28  30  42  40 25  20  35

 

(a)
Complete the frequency table.

[2]
	Amount of pocket money ($)
	Frequency

	0 ( x ( 10
	3

	10 ( x ( 20
	4

	20 ( x ( 30
	7

	30 ( x ( 40
	3

	40 ( x ( 50
	3


(b)
Complete the histogram to illustrate the data.

[2]


______________________________________________________________________

13
(a)
If 2x = 7y, find the ratio of x3 : y3.                      

(b) 
Bryan cycled 5 km from home to school at a speed of 20km/h. He stayed in the school for 15 minutes and then cycled home in 50 minutes. Find 
Bryan’s average speed in km/h.            

(a)
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(b)
Time taken to travel from home to school = 
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Time spent in school = 
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Time taken travel back home = 
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Average speed 


= Total distance traveled/total time taken



=
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Answer
(a)        343:8
[2]







(b)      7.5                  k m/h
[2]
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14
The diagram below is made up of a square, a regular pentagon and an 
incomplete regular polygon ABCDE of n sides.  Find the value of n.



Each interior angle of a pentagon

[image: image77.wmf](

)

1

A

108

5

540

1

M

5

180

2

5

0

0

0

K

K

K

K

=

=

´

-

=



Each interior angle of a square = 900

Each exterior angle of incomplete regular polygon

= 1080–900


= 180…………………………………..M1

No of sides of incomplete polygon
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OR        Each interior angle of a pentagon
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Each interior angle of a square = 900

Each interior angle of incomplete regular polygon


= 3600–(1080 – 900)

= 1620…………………………………..M1


[image: image80.wmf](

)

1

A

20

n

360

18

n

162

360

n

180

1

M

162

n

180

2

n

0

0

0

0

0

0

0

K

K

K

K

K

K

K

K

=

=

=

-

=

´

-

\





Answer

  20
[5]
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15
The diagram shows a circle of diameter 14 cm inscribed in a regular hexagon of 

sides 8 cm each.  Taking 
[image: image81.wmf]p

 to be 
[image: image82.wmf]22

7

, calculate the area of the shaded region.













            Area of hexagon
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Area of circle 
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Area of shaded region 
= 168cm 2 – 154 cm2
= 14 cm2 …………………………………….A1
OR
Area of hexagon = Area of 6 equilateral triangles
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Area of circle
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Answer 
14
           cm2
[5]
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